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b Q. Booklet A
GENERAL ENGLISH Code

Ll

(1-5) : Read the following passage carefully and answer the questions given
below it.

Primitive man was probably more concerned with fire as a source of warmth
and as a means of cooking food than as a source of light. Before he discovered
less laborious ways of making fire, he had to preserve it, and whenever he went
on a journey he carried a firebrand with him. His discovery that the firebrand,
from which the torch may very well have developed, could be used for
illumination was probably incidental to the primary purpose of preserving a
flame.

Lamps, too, probably developed by accident. Early man may have had his
first conception of a lamp while watching a twig of fiber burning in the molten
fat dropped from a roasting carcass. All he had to do was to fashion a vessel to
contain fat and float a lighted reed in it. Such lamps, which were made of hollowed
stones or sea shells, have persisted in identical form up to quite recent times.

1. Primitive man's most important use for fire was ....... i
(1) toprovide warmth (2) tocook food
(3) to provide light (4) to provide warmth and cook food

2. The firebrand was ﬁsed 170 WU
(1) prevent accidents (2) provide light
(38) scare animals (4) save labour

3. By'primary'the author means............
(1) primitive (2) fundamental
(3) elemental (4) essential

4. Lamps are probably developed through mere. ...........
(1) hazard (2) fate
(3) chance (4) planning

5. Earlylamps were madeby............
(1) using a reed as a wick in the fat

(2) letting a reed soak the fat
(3) putting the fat in a shell and lighting it
(4) floating a reed in sea-shell -
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(6-10) : The blanks in the following passage are numbered 6 to 10. For each blank,
four possible options are given. Identify the correct one for each blank.

6
7
8.
9

10.

In 1893, Lokmanya Tilak converted the Ganpathi festival into public ceremony.

He campaigned ........ (6)......... the........ ™....... circulation of this public celebration
through out Maharashtra. It was ...... ;) (— this festival that he could
.......... (9)......... public .........(10)......... to the nationalist movement.

(1) towards (2) for (3) with (4) withstanding
(1) early (2) slow (3) wide (4) sudden

(1) through (2) from (3) before (4) indeed

(1) advise (2) control (3) mobilize (4) demand

(1) places (2) support (3) festivals (4) grievances

(11-15) : Read the sentences that are numbered at the beginning of each sentence
in the following passage. Each sentence has an error. Identify the wrong word/phrase
and its correct one given together as one of the options.

11‘

12.

13.

14.

15.

(11) The students in my class would hand in an assignment on Friday. (12)
Madhu goes all out to get a good mark. Renu usually just goes in the motions of

writing an essay, but this time he's really pulled his finger out and is going out
of his way to write something good. (13) He says if he wants to get an'A' by hook
or by crook. (14) Paul says he found the assignment as easy as to take candy
from a baby. (15) Vani says that, however she had a good go at it, she found it
quite heavy-going.

(1) in—of (2) would —have to

(3) hand in — hand on (4) on-—in

(1) goes —is going (2) all out—all the way

(3) to get — getting (4) mark-marks

(1) if-that (2) wants—wanted

(3) an'A'—the'A' (4) or—and

(1) found—-finds (2) aseasy as—easier than
(3) totake — taking (4) a baby — the baby

(1) however — although (2) had - has

(3) atit—withit (4) quite — very
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17.

18.

19.
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'Has the shirt been washed?'

The above sentence can also be expressed as ...........
(1) Was it washed by somebody?

(2) Has somebody washed it?

(3) Was the shirt being washed?

(4) Did somebody wash the shirt?

'Which flowers do you want? .............. ?

Complete the expression by choosing the correct option.
(1) This one or that one

(2) This or that

(3) These or those

(4) These ones or those ones

(A) Do you want to go out?
(B) Are you tired?

The sentences (A) and (B) can be combined into a single sentence using the

conjunction ..............
(1) and (2) but
(3) because (4) or

This pen is ok but I think the otheroneis..........
Complete the sentence by choosing the right option.
(1) nice (2) nicer

(3) more nice (4) nicest
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20. It's raining and Padma is going out.
She hasn't got an umbrella but you have one. Then you say .............
(1) Would you like to borrow my umbrella?
(2) Do you like my umbrella?
(3) Would you liked my umbrella?
(4) You want to borrow my umbrella?

21. 'Why did your brother write such a letter?'
The passive form of the above sentence s ............
(1) Why was such a letter written by your brother?
(2) Why did such a letter written by your brother?
(3) Why have such a letter written by your brother?
(4) Why is such a letter written by your brother?

22. 1 wish you would not chatter so much.
In the above sentence, 'would' expresses .............
(1) arequest (2) past obligation
(3) astrong desire (4) probability

23. The 'courteous leave-taking' in letter writing is called ................
(1) salutation (2) greeting
(3) subscription (4) superscription

24. "l hear lake water lapping with low sounds by the shore".
Identify the figure of speech used in the above poetic lines.
(1) Simile (2) Alliteration
(3) Onomatopoeia (4) Metabhor

25. Identify the right order of the punctuation marks which represent 'pause’ from
the greatest pause to the shortest pause.
(1) Full stop, colon, semicolon, comma
(2) Full stop, comma, semicolon, colon
(3) Comma, semicolon, colon, full stop

(4) Semicolon, colon, comma, full stop
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217.

28.

29.

30.
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"Ramesh doesn't like sweets".

Identify the correct 'addition' to the above remark s ..........
(1) Sodol (2) Somustl

(3) Nordol (4) NeitherdidI
Seeyou............. week

Choose the correct option to fill in the blank.

(1) on next (2) next

(3) in next (4) at next

Read the following sentences.

(A) Do you like horses?

(B) Do you like a horse?

Which sentence is correct?

(1) Both (A) and (B) are correct.
(2) Neither (A) nor (B) is correct.
(3) Only (A) is correct.

(4) Only (B) is correct.

The boy who was missing is safe now.

Identify the correct newspaper headline for the above news.

(1) BOY FINDS SAFE

(2) BOY FOUND SAFE

(3) BOY IS FOUND SAFELY
(4) BOY WAS FOUND SAFELY

A : May I borrow the car?

Identify the correct response of B. (Grammatically)
(1) No, I'm afraid you may not.

(2) No, of course you may not.

(3) Yes, I'm afraid you may.

(4) Yes, of course you will.

(6]
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[ am /thinking [to change/ my job.
Ay (B (@) (D)
The above sentence is divided into four parts (A), (B), (C) and (D).

[dentify the part of the sentence which has an error.

(1) (A) 2 @

3) (O 4) (D)
She............. in a car crash.

Identify the correct option to fill in the blank.

(1) dead (2) isdead
(3) isdied (4) died

Identify the grammatically correct sentence.
(1) Suddenly the door opened itself.

(2) Ifeel myself strange.

(3) She's old enough to dress herself now.
(4) Try to concentrate yourself.

[dentify the discourse marker that is used for giving examples.
(1) onthe whole (2) moreover
(3) forinstance (4) consequently

The parts of the sentence (A), (B), (C), (D), (E), (F) and (G) are jumbled. Identify
the right order to get a meaningful sentence.

a / life /older of [Getting / fact

@A)y B/ ©fD) ® (¥) (G)

(1) (B), (G), (E), (C), (D), (A), (F) ) (E), (C), (G), (A), (F), (D), (B)

@) (E), (G, (C), (A), (F),(G), (A),B) (4) (E),(B),(C),(G), (A), (F), (D)
Afriend of yours is very upset that he has scratched his new car. You could say;
"Don't make such a fuss. ...................

Choose the proverb that you would use in this situation.
(1) Actions speak louder than words. (2) Many hands make light work

(3) Blood is thicker than water (4) It's no good crying over spilt milk
Identify the wrongly spelt word.

(1) noticeable (2) changiable

(3) readable (4) peaceable
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42.
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Read the following complex sentence.

'How long I shall stay is doubtful'.

Identify its simple form.

(1) The duration of my stay is doubtful.

(2) Idonot know how shall I stay.

(3) Itis doubtful to me how long I shall stay.
(4) I am doubtful when I shall leave.

You should complete your B.Ed. ............

Your B.Sc. to get a teacher job.

Choose the right option to fill in the blank.

(1) according to (2) 1in addition to

(3) inspite of (4) 1inaccordance with

The little boy strode imperiously up and down.

The underlined word means...............

(1) politely (2) humbly

(3) proudly (4) respectfully

There are six sentences marked S, Sg, P, Q, R and S. The positions of S, and S
are fixed. Identify the right order of P, Q, R and S to make a meaningful
paragraph.

S, : Hetried the door.

P The room was neat and clean.

Q Then he stepped into the room.

R He waited for a minute or two.

S It opened easily and he peeped in.

S; : He was careful not to touch anything.

(1) PQRS (2) QSPR
(3) RPQS (4 SPRQ
- — thief was caught by the police last night.
Choose the correct word to fill in the blank.

(1) famous (2) popular
(3) renowned (4) notorious

He said, "Get out", to his peon.

It can also be written as ......

(1) He asked his peon to get himout. (2) He told his peon that he get out.
(3) He commanded his peon to getout. (4) He requested his peon to get out.
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Read the sentences (A), (B), (C) and (D).
Identify the sentence in which 'better' is as an adverb.
(A) I think yours is a better plan.
(B) I know better.
(C) Give place to your betters.
(D) The boxes with which he provided me bettered the sample.
(1) A) 2 @
3) © 4 @D
There is a mosque in that street, ............ ?
Identify the correct question tag to complete the sentence.
(1) 1sn't there (2) 1isn'tit
(3) aren't they (4) hasn'tit
As he was not there, I spoke to his brother.
The above sentence contains an adverb clause of .........
(1) purpose (2) condition
(3) cause (49) place
Children love making mud castles.
In the above sentence, the gerund is ..........
(1) the subject of the verb. (2) the object of the preposition.
(3) the complement of the verb (4) the object of the transitive verb
An apology letter begins with ..........
(1) Iam glad (2) I am really sorry
(3) I am pleased (4) I wish to inform you
The three brothers shared the property .............. themselves while two others
(o)LL o L themselves for the property.
Choose the right option to fill in the blanks.
(1) between, among (2) among, between
(3) in between, among (4) within, between

Identify the pait of words in which the letter, 'c' is pronounced the same.
(1) Ceasg — homicide (2) Face —brochure
(3) Ace —ache (4) Peace - preach
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The value of 'K’ for which 2x? + 3x% + 2K % + 3x + 6 is exactly divisible
by x+27?

2x% +3x% < 2K x? + 3x + 6 % x+2 dom gpA 'K Sesn?

(1) 1 2 -1
3) 2 4) -2
1
If a, # are zeros of the polynomial gx? + bx + ¢, then the value of 5 ¥ E
1S crrrreeeeenn. r §
a, f oo ax? + bx + ¢ mammswuwégﬂ“z VBN sisiasii
-b
(1) - (2) b=ac

-b b
@ — @ “\ae

If x +1, x + 2 are two factors of x3 + 3x? - 2ax + B, then values of & + g

x+1, x+2ex3 4+ 3x% - 2ax + f G0K Tl TBFOTDSARD @ + f = ooeen
(1) -1 2 1
@) -2 4 2

In the given figure AC pass through center of the circle, then the area of the
shaded region in the given figureis..............

\ |
(1) _xz_ (3-7) @ x° (% - 1]

2
3) 2x% (7 -1) 4) %(%—1]
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The area of a circle is 220 cm?. Then the area of square inscribed initis ...........

5 S PO 220 9.750.00. s eoiod® woBiPols LEHE P e
(1) 49 cm? (2) 70cm?
(3) 140 cm® (4) 150 cm?®

A vessel is 1n the form of a hollow hemisphere mounted by hollow cylinder. The
diameter of the hemisphere is 14 cm and the total height of the vessel is 13 cm,

then the inner surface area of the vessel is .........

(1) 308 cm? (2) 572 cm?
(3) 672 cm? (4) 472cm?

5 D 2.5 1o eotRteRas B 1S s SBoobes Eed. ettt e, ese 14 Be.te.
D [ - [x] (] - z‘ bl

OB O 13 038 e PP Gk, 0B &S0 BE DTG werersesenns
(1) 308 v.2c.2o. (2) 572 v.xe.00.
(3) 672 v.xe.lo. (4) 472 B.x0.00.

The radii of the base of cylinder and a cone are in the ratio of 3 : 4 and their

height are in the ratio of 2 : 3, then the ratio of the volumes is ............

&5 S0, Hopsy G, TPEMPed G 3 1 4 dawe U0 2 1 3 sl T Juslirrre

DHD v
(1) 9:8 @ 9:4
(3) 3:1 (4) 27:64

A circus tent is cylindrical up to a height of 4 m and cone above it. If the diameter
is 105 m and its slant height of cone is 40 m., then the total area of canvas

required to built the tentis..............

L3330, BouS 4 L. D83 fie 13S0 B 105 20, Tgdo, 40 2. Deares I8 XA dopo trsed?

DB &+ Bod Hare eisstic g TR G, PTOD ereresscses
(1) 7920 m* (2) 7820 m?
(3) 9720 m? (4) 2645 m?
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What will be the value of x if 8x + 4. 6x — 2and 2x - 7 are in arithmetic

progression?

8x + 4, 6x — 2 9000%: 2x + 7 woNFAES POD X DSH weerreene
-15 15

(1) T % (2) 2

(3) 15 (4) -15

The n'® term of an arithmetic progression is —11 while sum of the first n termsis

66, when its first term is 22 then the valueof nis................

X esoNRG Dot 8¢ 22 n B S0 —11, st n BTFG ABC 66 IS N VSIS wwererrenes
(1) 12 2 13
(3) 14 4 15

If the first and fifth term's sum is 10, then the third term of an arithmetic

progressionis.............

2.5 ©o¥EG Gooly, Tasted, e Sore 2o 10 ecasd & B Gool, AP 850 e
(1 3 2 1

3) 5 4) 2

If the 10* term of the sequence /3, 12. V27 ....... is /3n2 , then the value of
n

s | DS

2

J3, Vg, 27.......... B&E 1053580 /352 m%aw:s ...........
(1 3 2 3

@3) 5 @ 5

2
L' 9
M 5 @ 3,
2 2
- L
® 5 Ol
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The sum of squares of the roots of x> +8x ~ 15 =0 iS cevevreercn...

2 +8x + 15 = 0 SIFSRBEs PO ST DO wevvvsnssees
(1) 30 (2) 34

(3) 40 (4) 44

The value of \/2 + \/2 N N | P

NN TN T Y—

(1 3 2 4

3) 2 4) 8

The roots of (b - ¢)x? +(c —a)x +(a - b) = 0 are equal and kb =a + ¢, then
the valueofkis.............

(1) 1 2 2

3) 3 (4) 4

Two isosceles triangles have equal angles and their areas are in the ratio of
16 : 25, then the ratio of their corresponding height is ..............

Both SHoBr (gl Srren Mo Bdakx T PTene 2B 16 1 25 e T e

(1) 4:5 (2) 5:4
3) 3:2 4 1:4

In AABC. AD is bisector of |4 if BD =5cm, BC=7.5¢cm, then
AB = AL =

AABC & AD, S a0 |A @, 50 55780t 89 o BD = 5 cm, BC = 7.5 cm
o AB : AC =......cceveee

(1) 2:1 @ 1:2

3) 4:5 @ 3:5
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A ABC - A DEF and perimeters of AABC and A DEF are 30 cm and 18 cm
respectively. If BC=9cm, then EF= ..............

AABC —- A DEF mvdm SPodes W0 30 em, 18 cm wasd BC=9cm,

(1) 6.3cm (2) 5.4cm 3) 7.2cm (4) 4.5c¢m
AB BD _
In the given figure if 2C - CD’ .then [ABD =........
AB BD :
%, Seso £5000 22 abenss
™ & AC CD [AkD
(1) 50° (2) 40" 3) 30° 4) 70°

ABC s a right triangle and right angled at C. If p is the length of perpendicular
from CtoABwithAB=¢, BC=a,AC=b,then..........

ABCwecuSSn@@awCa‘gscu r20 X8R Pob. C o0& AB 3 A% cortn ey

peocsd AB =c, BC=a, AC = b Qa5 ceeveerennes
LI LT %
(1) az b2 p.: (2) p2 a’ b2
1_1_1 LI T
@) 32 PR (4) 2 a b

Sin a, Cos a @ ax” + bx + ¢ = 0 G, WPTEO BABD cveseseesens
(1) a® +b®-2ac=0 (2) (a+c)2=b2+c2
(3 a®-b*+2ac=0 @ (a+cf=b-¢

2xy
If x > yand —— = Cos0, then Sin@ =.............
.

+ Vv
2xy 5 .
x > y esow, —5——3 = C080 s Sind =............
x“+y
9 7 2 92 9 92 §
' A = " I & 5 e O q 2xy
9 D) & 9 9 == 2 2
U @ T @ o @ Fo g

(14]
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Cos 0 . Sin 0 B
1 ~-Peaill | —~Cot§ oo
(1) Cos@ - Sin 6 (2) Tan 0 - Cot 0
(3) Cos @ - Sin 0 (4) Tan 0 + Cot 0
7 (1+ Sind) (1 - Sin0)
If Tan 0 = —, then th 1 f R
an 2 en the value o (1 Cosﬂ) (1 ~Cos0)
i (1+Sin@) (1 - Sin0)
Tan 0 = — ea3d oL~
MU (1 + Cos@) (1 - Cos®)
) B » 49 5 B o T
M 79 @ & ® - @ 3
If Cosec® + Cot® = P .thenvalueof Cos@ =............
Cosec + Cot@ = P e Cos@ =............
1- P2 5 1 = p2 2P 2P
V) T @ 5 @ o @ T

The angle of elevation of top of a tower at a distance of 500 m from the foot is

30°. Then the height of the toweris .............

2% 0256 Do wsed 500 Do, Erved’ & Dot wed b Ay, % &g Fro 30° & wry;

500 3 V3
S 2 50043 ® =55 @ ——
If altitude of the sun is 60°. Then the height of the tower which is casting a

shadowof 30 m. is.............

RO S 60° Fipainet 156350 30 m e Moo XS RHE0D 90359 23890 DB cevvesssenee
(%0. 08%)
(1) 61.69 (2) 51.69 (3) 51.96 (4) 41.69
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The probability that year 2016 to have 53 Mondays.

2016 $oTKsE" 53 SRS G BORPHD rverreen
(1 @ 7 ) @4 =

The probability of getting score greater than 9 slove added together on faces of
two dice rolled at one time.
'5;%‘) ool 3”..3& M‘n) (5:“\:* "133-13 »..33352‘0 QJG.:‘C,C 9503 \§>L“ Qpavs aJCV uqd

5 1 13 7
(2) = 3 — 4) —=

A 5 6 36

A bag contains cards numbers from 11 to 30. A card is taken out the bag at

random. The probability that the drawn card is a multiple of 5 on it.

w8 08" 11 tood 30 B eses TN TS Soif AR IyNer S5 LI T D 5 Gy,
Hordes SO SOEPEM wurerseseens

3
@ 75 @ 55 @ 3

Ut | -

(1)

When three fair coins are tossed simultancously, the probability that at least

one head appears.
£330 3 S3 3 Treres DS B Ko 15 %y 5 TR,

v

(1) 8 (2)

x|

4

x|

3)

N | =

A bag contains 6 red, 3 black and 6 white balls. A ball is selected at random

fromn the bag, what is the probability that the selected ball is not red?

LSRRGS 6 DL 3196, 6 Tasd Sokb Lotoes SR IR L weddl w8 Mty wod

.'_Jl|v—4

2 o a ==
@ 3) @

(16]
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If K, < P < K, where Pis probability of any event of random experiment, then
the possible maximum K, + possible least valueof K, is..........

(1) 1 2 0

3) 2 (4) cannot be determined

K, < P <K, sgt>» P &b e85 dirdins BRrnos® a8 o G, Sogrid eaxd
O EET L R SR T —
(1 1 2 0 3 2 (4) JooiEo

The end points of diameter of a circle are (2, 4) and (- 3, — 1). The radius of the

cIrele 18 s

LSHOTFE S (2, 4), (-3, - 1) e D T Ny oL DU

52 + 52
: @ 5V2 3) 3v2 @ —
The ratio in which X-axis divides the line segment joining the points (5, 4) and

(1)

(5, 4), (5, — 3) o0 505 Tgrpotisiaiss X-elo 0800 gD wereees.

(1) 5:2 2 3:4 3 2:5 4 4:3

AOBC is a rectangle with A = (0, 3), O (0, 0) and B (5, 0), then the length of its
diagonalsis..............

AOBC w5 8gsastse agres A= (0, 3), 0 (0, 0) 50aix B (5, 0) escosid S Gy, PEY
() 5 (2) 3 3 34 4) 4

The points (- 4, 0), (4, 0), (0, 3) are vertices of .........

(1) right angled triangle (2) isosceles triangle
(3) equilateral triangle (4) scalene triangle
(— 4, 0), (4, 0), (0, 3) DoXoPe V0D (BLELTS weeeeaesenens

(1) vous’ Ggoenw (2) Sabersv (Ghbehn
(3) oo (Sgbea (4) Do o SRt
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In the quadrilateral DEFG a circle is inscribed

touching quadrilateral at R, S, P, Q. ES=5 cm, P7¢m £~
PF=Tcm, QG=5cm, DR=4 cm, then perimeter Stm

of the quadrilateralis............ Q

8%, Swed® w¥ Latizmo DEFG & w¥ o 5¢cm
woBlPotedod 30 Watyeiy R, S, P, Qestipien. 04CmM R E
ES=5cm, PF=7cm, QG=5cm DR =4 cm

B0 Daxlinmo Gl WSTed wvvennn.

(1) 40cm (2) 21cm (3) 42cm (4) 20cm

TP and TQ are two tangents to a circle with center O. So that |POQ =130°,
then |[PTO =..............
TP 5805 TQ o O SoEer Ko $1%0 5 Soks 8o POQ =130° eced

[PTO =.............

(1) 65° (2) 25° (3) 35° (4) 45°

In the adjacent figure AT'is a tangent to a circle
with center O. If OT = 4 cm, |0T4 = 30°,

AT=............. (in cm). 0 T

B8, 908" O Sogom N Huswd® AT 568

OT=4cm, |OTA = 30° exasvAT=..... (Re.08%) A

(1) 3.464 (2) 0.8 (3) 4.464 (4) 1.8

In the adjacent figure 'O is the center of a circle. ¥

PTis a tangent to the circle, then the radius of $

acirele s ... P
. B o /C3m

8%, S0:08"' 0" Sogem e et PT 18 3,509 e

D8 TR cevneneanns

(1) 3cem (2) 6cm 3) 12cm (4) 4.5¢cm
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93.

94.

95.

Q. Booklet
Code

Constructing of a cumulative frequency table is useful in finding ...........

(1) median (2) mean

(3) mode (4) mean, median, mode

5000 MuPo0 Bod TIE® DB KeoR 9006 ESAPABED cererreessenss

(1) Sogpgsss (2)  Sopgon

(3) wrosEs (9)  SoKyusENs, SoHEision, PRI

The absissa of the point of inter section of less than type and more than type

ogive curves gives .............

(1) median (2) mean

(3) mode (4) standard deviation
esEms, B SolG Doy ST PoESDOBIY Gk, X JEFBES FENE.
(1) sggso (2)  oggaon

(3) PousS (4) [Eod0eso

The mode of data 3, 3, 4,5,3,5,6,3,7,9,11, 7

(1) 3 2 7 3) 3or7 (4) does not exist

3,3,4,5,3,5,6,3,7,9, 11, 7 Gy, rmosii

(1) 3 2 7 B) 387 (4) ‘.’»S:kgéo =
96. | Marks Below 10 Below 20 Below 30 | Below 40| Below 50
Number 8 17 39 62 80
of students
In the above distribution the model class is .......
G (308 B3 ook, DT BEHO
RULOFE 10 503 8335 | 20 508 635 | 30 300 8%,5 |40 503 iy | 50 303 oMo
oo Sowg 8 17 32 62 80
(1) 10-20 (2) 20-30 3) 30-40 (4) 40-50
Y-1 [19] Turn Over
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97.

98.

99.

100.

Q. Booklet A

Code

The value of P for which the pair of equation 2Px + 3y =7, 2x « % =8
has exactly one solution.

(1) 3

(2) Any real number except 3

(3) Any real number

(4) For no real Pthe system has solution

2Px + 3y =17, 2x + y = 6 HaoS8matess SnBom L3S doreod.
(1) 3

(2) 339 2% Sopg o Pty

(3) 'D:'I_;‘.‘):Soassao:::sP:)w‘és%ab

(4) Dv;:é:boaosg: P 355790 oo

If x2+ %= 123xy and 2Log (x + y) =k, Logl + Logx + Log y where k and
l are real, then the value of k + lis ...........

x? + y% =123xy w8 2Log (x +y) =k, Logl + Logx + Log y ecasss k, |
TSSopee wasd k+ 1 Dess .........

(1) 8 (2 3 3 5 4 2

Which one of the following rational numbers have nonterminating repeating

decimal expansion?

31 71 23
(1) 3125 (2) 312 (3) 200 (4) None of these

308 08" 00 eotie T HiRiEe edlsy TR0t Do FAHE?

71 23
D 3755 @ 33 ® 300 (4) ez
If A c B, then which one of the following is false?
A c B ocxsd 308 T6° 08 estgma?
(1) A-B=A 2 B-A#¢ (3) AUB=B (4 ANB-A4
[20]
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101.

102.

108.

104.

105.

Y-2

PART - III
Q. Booklet A

PHYSICAL SCIENCE Code
The amount of heat required to raise the temperature of 1 gm of water to 1°C
1S teveereennens (in joules)
1 gro D3 &2Birsias 1°C 1 oBErd3 eietiss a5 FHE8' .
(1) 4.186 (2) 4.286
(3) 4.108 (4) 4.208
The substance that is having least specific heat from the following.
(1) Zinc (2) Mercury
(3) Water (4) Kerosene
308 TRE° eitigen Dafise No SRS,
(1) =c§ 2) Smsse
(3) X0 (4) 3%S

The heat energy required to raise the temperature of 20 kg of water from 25°C
20 TBUCAE .o eians (in calorie)

20 &.qm. © D3 &30 25°C 008 75°C 5 JoBEEIS LSRN &3 3606E’ o.nnnnnne
(1) 10® @ 10*
(3) 10° 4) 10°
The vitamins that help in preventing the spoiling of food.
(1) Vitamin C and Vitamin E (2) Vitamin A and Vitamin C
(3) Vitamin A and Vitamin E (4) Vitamin A and Vitamin K
e3:5800 S0 DegHOCreot) S350 PEy Dwlodes.
(1) DesdoS C sodais DS E (2) DS A w8 Desded C
(3) Desod A 98080 Do E (4) DS A sdaie Do K
The C. G. S. unit of heat from the following is ............
(1) Joule (2) Calorie
(3) Kelvin (4) Celsius
808 A& &ite Bty C. G. S. BP0 crvesresrrsonns
(1 =% 2 %
(3) 30 (@) BELH
(21] Turn Over



106.

107.

108.

109.

Y-2

Q. Booklet A

Code

Cao + H,0 - Ca(OH), + Q (heat energy)
The above chemical reaction is an exampleof ..............
(1) chemical combination (2) chemical displacement
(3) chemical decomposition (4) double decomposition
Cao + H,0 — Ca(OH )2 + @ (heat energy)
D EAD D8 B AT curerenneen.
(1) B3 Sodrne (2)  Eaws Figicso
(3) Bl SR (4) St dBRNe

XAl + FeyO3 —— AL O, +Y Fe

To balance the above equation the values of X and Y respectively are ...........

D BRONEE0 190 Boeie DALEDL errdys X 5080k ¥ Dessen S ...
(1 1,2 2 22
3) 2,1 4) 2,3

The substance formed when magnesium burns in airis .............

(1) blue coloured magnesium oxide (2) red coloured magnesium oxide

(3) white coloured magnesium oxide (4) green coloured magnesium oxide

Dofiphotioo TDE® 088 DR ST woreeessennne
(1) DBoor> Dofpaiie e3,E (2) R Bold Rofpsaciive e53HE
(3) Bed Ao e (4)  esn0 ihaio 3,8

The enzyme that is responsible to change the colour on the cut surface of the
fruits like Apple, Bananaiis..............
(1) Zymase (2) Tyrosinase
(3) Invertase (4) Lactase
QrDE, 3 erod Sogs SR, 5% &30Beo Horb BT TR OB «.vererenne
1) 2ok 2 o
() zxgé (4 o3&
[22]



110.

111.

112.

113.

Y-2

Q. Booklet A

Code
The principle that tells that "light selects the path which takes least time to
travel"is .............
(1) Fermat's principle (2) Huygens principle
(3) Peter principle (4) Fresnel principle
TS DLhnls BAFRTeo S5 S YOG LT, DSnHo0e00td) By SO e
(1) soplarpe ) 3RS e
(3) Sebisrpe (4) Pdarpe
If the focal length of a mirror is 20 cm, then its radius of curvature (incm)is.....
&5 8530 TgHeBto 20 0.D0.00 woass TR ST TE0 30.80.088 euvveenanen
(1) 20 2 30
(3) 40 (4) 50
If an object is placed at a distance of 10 cm from a convex mirror of focal length
15 cm, then the nature of the image s ..............
(1) real and inverted (2) real and erect
(3) wvirtual and inverted (4) wvirtual and erect
15 To.bo. 000 Ko Sogrs Stheso Bwotis 10 Do.bs. EPE0E® SHRPs GO Dty
PSDow oFrrey ...,
(1) BodorsEs Je 30Dowo (2) e e BDowo
(3) BoBotBs Dugry E@Dowo (4) 273 Doy 8Dowso
To get the inverted image having same size of object with concave mirror, the

object should be placedat ............

(1) focal point

(2) center of curvature

(3) between focal point and center of curvature
(4) beyond center of curvature

RITSE B0 DS SRESORPEPOL A $05;ee SOA, Bo8oBd B&Dowo DGhECns

(1) ~dow Dotssy = (2) sz dosan
(3) =8, “Eor Somio wogy (4) wSEoe oo wve
[23] Turn Over



Q. Booklet A

Code
114. Olfactory indicator from the following is ...............
(1) turmeric (2) onion
(3) methyl orange (4) litmus paper
308 TS’ TS BT e
(1) S35 (2) &
(3) b esced (4) Bepods
115. Tooth decay starts when the pH value of the mouthiis ............
SOBEAI0 (SUOERICISHNES F2206% pH 2855 ervereceeeeee
(1) 5.4 (2 56
(3) 5.7 (4) 5.8
116. The formula for Gypsumis............
EH0 D, PGP ceveveersecnsnnes
(1) CaSO, 2H,0 (2) CaSO, 3H,0
3) CaOCl, @ CaSo, -;-Hgo
117. Pair of strong acid and strong base from the following is ...........
1800 D6 £ERH €550, LU THINS BB wuerrreenn.
(1) HCI, NH,OH (2) CH,COOH, NH,OH
(3) CH;COOH, NaOH (4) HCI, NaOH

118. Ifthe refractive index of glass is % , then the velocity of light in glass (in m/sec)

(- —

e Glooly, GRS Horie g €0 TPerS” 5900 Do 3./, ©6° erreveriesennes
(1) 3x108 2 2x10°

3) 4x108 4 25x108

Y-2 [24] -



119.

120.

121.

122,

Y-2

Q. Booklet A

Code

Which is NOT an application of total internal reflection from the following?
(1) Optical fibre (2) Mirage
(3) Sparkling of diamond (4)  Blue colour of sky

300 TG 3300 ST eRRn T06.

(1) wuxbpub, 2) Semirges
(3) Lo Fzvio (4)  e=% Quy, DOt

When light enters from air to a medium 'X', its speed becomes 2 x 10® ms™!, then

refractive index of the medium 'X'is ......... (Speed of light in air = 3 x 10® ms)
FeE el X o airste & 582005 o0 3o 2 x 108 /571 I RFsS es cmesas ' X
Sty B35 1orasios (8 308 S0 3 x 10 2./3.)

(1) 2 2 3

3 15 4) 1

Identify the lens maker's formula from the following.

(800 TRE® K35 HAE S KOGOBOE cevnnnnnnn...
1 1 1 1
w f-0-0(7 -7 @ 1-ee)(z-5)
RPN eyl L
® 770975 @ =03 %)

If the image distance of a convex lens of focal length 25 cm is 75 cm, then the
object distance (inem) is ............

(1) —37.5 (2 37.5
(3) 50 4 -50

[25] Turn Over



123.

124.

125.

126.

127.

Q. Booklet A

Code
When a convex lens is placed in water, its focal lengthis..........
(1) decreased (2) becomes zero
(3) doesn't change (4) increased
047 50570 AIE* SODINED T DSBS «..rveeeea.
(1) it (2) ssgsorom
(3) s (4) Do

The minimum focal length of eye lens for the person of hypermetrog. a is greater
than.............

Bt e Byfe Soud Keal X0 g0 BIEY 2595 cerrrrerreannens
(1) 2.27cm 2) 2.5cm
@) 25m (4 2.27m

The reason for low angle of deviation for red colour in dispersion of light is due

toits.............. 4

(1) low refractive index (2) high refractive index

(3) low wavelength (4) frequency

Sod JESrod’ Dyt Dvese B YOLLFIS T, DR B> QY eveenne
(1) 3855 roraso sy (@) &g forsSo ey

(3) torggo b (4) sugse

The distance between eye lens and retina is nearly equal to...........

5036 50508, DS 08 BPBO T cuvsnensenennn

(1) 2cm 2 2.5cm

(3) 3cm (490 3.5cm

The molecules of atmosphere that are responsible for blue sky are.............
&S5y NOBOID TECIA TTDERDED SEBHED oo,

() H,0 @ N,, H,0

3 0,, H, (4) N,, O,



128.

129.

130.

131.

132.

Q. Booklet A

Code

Choose the correct increasing order of substances arranged based on their

refractive index.

"Water, ice, kerosene"

(1) ice > water > kerosene (2) ice>kerosene > water

(3) water > ice > kerosene (4) water > kerosene > ice

300 STrepeis HESSS rormTe SPEOT® 00y SOG3S esthives H80H .........

D, o, 365

(1) oo > Mo > %5 (2) s> 3695 > Hw

(3) St > sen > 36%:5 (4) o> 38%5> mew

The valency of an element which belongs to 3™ period and 2™ group of the
periodictableis............

SOAPAE 3e356° aresd HOADE, Botss I B Dol farets CVEE T
(1) 2 2 3

@) 4 4 5

The orbital that is having least energy among 3p, 4s, 3d, 4p is ............

3p, 45, 3d, 4p 0)rE, &° weyid lio ORPE ............
(1) 3p @) 4s
3) 3d (4 4p

If the angular momentum quantum number [ is equal to '3' then maximum
number of electron that can be accommodated in all orbitalsis...........

Srioths (Esoei Shs0s0 S0y 13" eass 9 250y rEE° Yot MR KR D05 568 crrrrnen..
(1) 6 2 14
(3) 10 4 2

If an element has 3 electrons in the M shell, then the element s ...........

&8 roso qoly; M 55006" 3" dogSen Pintand, € BaP 08D uuun.n.evnnnnn.,
() Mg @ Al
@3) Si (4) Na

[27] Turn Over



133.

134.

135.

136.

137.

Y-2

Q. Booklet A

Code
The electronic configuration of chromiumiis ...........
300 T0E° §oao @y, ST C—
(1) [Ar]4s%?3d* (2) [Ar)4s%3dd
(3) [Ar]4s'3dP (4) [Ar]4s'3d°
The set of elements that is NOT a Dobereineri triad from the following.
300 TRE° eBish (BEEL T BoFeTO SIS ceeerrereana
(1) Ca, Sr, Ba (2 Cl Br1
(3) Mn, Cr, Fe 4 S, Si, Te

If the elements A, B, C, D have the following electronic configuration, then the
elements that belongs to the same group of periodic tableis...............

A-2,3 B-2,83 C-2,8,5 D-2,8,7

A, B, C, D &3 soreses $ois 5rds Joge vvgse $DAged, bociral 3:356° o8 podn
OB DOTOTHS veesrsrearsnnnes

(1) A B (2) B C
3 CD 4 DA
The biggest and the smallest atoms from the following respectively are ......
oD TRE® DY STAPLAY, DY SEATLANHO SEXMP cererseconsrnes
C,Si,N, P
(1) N,Si 2) Si, N
3) CN 4 NP
For the formation of ionic bond the electronegativity difference between atoms
of two elements should be............
(1) greater than or equal to 1.9 (2) lessthan or equal to 0.9
(3) equalto 1.5 (4) equaltol

Cold BreTel Tl SEFTAHes SRl 1x0t08 PETool T S 106 DTN

PUST = R B
(1) 1L9B et dysmPesd (2 0.9 5 S50 Bor BiH ™ PHosd

(3) 1.5 % EEroe v Yomd 4) 1% Hooed

[28]



138.

139.

140.

141.

142.

Q. Booklet A

Code

The scientists proposed VSEPRT theory are .............

(1) Sidgwick and Powell (2) Gillespie and Nyholm
(3) Davy and Powell (4) Davy and Nyholm
VSEPRT oot SOPB00 TR0 ceuereanes

(1) EDE astass F3E (2) A3l Se0cio ZStSd

(3) &2 sobaxs Fad (4) D Sodain I

The molecule having 104° 31’ as bond angle is ............

104%.31' = Do¢§‘m TP KO BILR) ceverescrcsecsses
(1) CH, (2 H,0
3 NH3 4) C2 H,

An element 'A' forms a chloride AC! ” the number of electrons in the valence

shellof'A'is .........

A’ &3 Bareo ACI, 5 Musis, 'A’ Gloly, HBy DO TH00 S0P errrecrecreenss
1 1 2 2
@ 3 4 4

The melting point of Tungstonis.............

SR U LT R, Y —
(1) 3420°C (2) 3422°C
(3) 2420°C (4) 2422°C

To detect leakage of gas from the cylinder the substance added to the gasis......

T 20otb Mool M SE20 KogoiERE IS £ 50D SO wererseessssees
(1) C,HySH @ C,H, OH
(3) CH,COOH 4) CH,CHO

[29] Turn Over
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Code

143. If CH; - CH, - CH, — COOH is the IUPAC structure of a hydrocarbon, then
that hydrocarbonis.................

(1) Butane (2) Butanol

(3) Butanoic acid (4) But-l-ene

2% 2pEssy® IUPAC doyero CHy— CH, - CH, — COOH s €3 2ETYD wervones

(1) amsS @) wre>s

(3) wrerd§esio (4) ©rgs1-5w
144. The name of functional group— C=0is.........

(1) Aldehyde (2) Ketone

(3) Esters (4) Ethers

00K 3507590 — C = 0 DD vvverernereenees

(1) eps @ &%

(3 6 @ b

145. The metals having high reactivity from the following.
"K, Na, Mg, Zn, Cu, Au"

30d S55808° ek FATBOB KO e

"K, Na, Mg, Zn, Cu, Au"

(1) Zn, Cu, Au 2 Cu,Zn, Mg
(3) K, Na, Mg (4) Na, Mg, Zn

146. The ore of mercuryis................

(1) Galena (2) Cinnebar
(3) Gypsum (4) Zincite
PRS0 G, TR sererenensssesess

(1) "= (2) e
() &80 (4) 285

Y-2 [30]
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Code

147. The first scientist who identified the relationship between electricity and

magnetismis................

(1) Oersted (2) Ampere

(3) Lenz (499 Ohm

35D, easd, 080 © B Sowegr KEoDs s o
(1) easbps (@) wodash

(3) & | 4) £

148. An induction stove works on this principle.

(1) Electric induction (2) Induced EMF

(3) Electromagnetic induction (4) Magnetic induction
FOLES 59 &+ daiioo Dot epreisd 305508,

(1) DS Bes (2) (6% EMF

(3) Ltixd esonoe, 0 Bties (4)  eonImocs o

149, If a wire of length 1 m and radius 0.1 mm has a resistance of 502, then the

resistivity of the material (in Q — m)is..........

&5 O ey, Tgre, 260 eo S 1 m, 0.1 mm, 50Q ecwsd e O Gy, 2%
Q - mod ...

(1) 0.001237 (2) 0.005171

(3) 0.001571 (4) 0.002137

150. The resistance of the bulb on which 60 W and 120 V is marked (in Ohm) is......

60W, 120 V & odatiany wé) 5ordd 36%0 (£5:06%) eovnennnen.....
@ 120 (2) 240
(3) 200 @ 220

Y-2 ©[31] Turn Over



